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Let h and & be posiive numbers.

To graph shifi the graph of y = x” by k units
-'I_I = I: + l|!;' up'l.’r'ﬂrd.
y=x‘=k downward.

To graph shift the graph of ¥ = x° by h units

y=(x = h)? right.
v=(x+ h) left.
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VERTEX FORM

The vertex form of the equation of a parabola with vertex (A, £) is
y=alx=h)' +k

where @ # () is a constant. If @ = 0, the parabola opens upward; If @ < (), the
parabola opens downward.
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QD Number of ATMs
Year (thousands)
1991 an
1993 08
1995 119
1997 159
1999 227

b> Cell Phone

Subscribers
Year (thousands)
1987 1.2
1988 2.1
1989 3.5
1990 5.3
1991 7.6
1992 11.0
1993 16.0
1994 241
1995 20.0
1996 38.2
1997 53.8

1998 60.8



